BANK BRADESCO Form 6-K December 12, 2017

# UNITED STATES SECURITIES AND EXCHANGE COMMISSION

Washington, D.C. 20549

### FORM 6-K

REPORT OF FOREIGN PRIVATE ISSUER PURSUANT TO RULE 13a-16 OR 15d-16 UNDER THE SECURITIES EXCHANGE ACT OF 1934

For the month of December, 2017 Commission File Number 1-15250

### BANCO BRADESCO S.A.

(Exact name of registrant as specified in its charter)

### **BANK BRADESCO**

(Translation of Registrant's name into English)

Cidade de Deus, s/n, Vila Yara 06029-900 - Osasco - SP Federative Republic of Brazil (Address of principal executive office)

Indicate by check mark whether the registrant files or will file annual reports under cover Form 20-F or Form 40-F.  Form 20-FX Form 40-F
Indicate by check mark whether the registrant by furnishing the information contained in this Form is also thereby furnishing the information to the Commission pursuant to Rule 12g3-2(b) under the Securities Exchange Act of 1934.
Yes NoX

### **CONSOLIDATE FORM**

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2017 were done the following operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Group and Family (x) Controller's

Dependants

### **Openning Balance**

		oponing Danam					
						% of partici	pation
Type of Securities/Derivatives				Quantity	Same type of Shares	Total	
	Common Non-Votin			2,231,703 68,908	,		
		Month Movemer	ıt	,	, -		
Type of Securities/Derivatives	Broker	Operation	Day	Quantity F	Price	Value in	R\$
Common Shares	Banco Bradesco	Shares Transfers Outside B3 (Bradesco Book Entry Form)		11,827,2031	8.58	219,696	R\$ 5,560.92
Common Shares S.A. Total				11,827,203	R\$ 219,696,560.92		
		Closing Balance	9				
						% of partici	pation
Тур	e of Securiti	es/Derivatives		Quantity	•	Same type of Shares	Total
Common Shares Non-Voting Shares				2,243,530 68,908	•		36.7252 1.1279

### **CONSOLIDATE FORM**

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2017 there were not operations with securities and derivatives in accordance with

Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A. () Board () Technical and Advisory (x)Board **Agencies** () Audit **Group and Family Dependants** of **Executive Committee Directors Officers Openning Balance** % of participation Type of Securities/Derivatives Quantity Same type of Shares Total Common Shares 13,850,826 0.45340.2267 Non-Voting Shares 29,114,592 0.95310.4765 **Closing Balance** % of participation Type of Securities/Derivatives Quantity Same type of Shares Total Common Shares 13,850,826 0.45340.2267 Non-Voting Shares 29,114,592 0.95310.4765

Company: Bradesco Leasing S	.A. Arrend	amento Me	ercantil					
Group and Family Dependants	(x)Board of Directors	() Board of Executive Officers	() Audit Committee	•	and Adv	isory		
Openning Balance								
				% of par	rticipatior	ı		
Type of Securities/D	erivatives		Quantity	Same type of	Shares	Total		
Common Sha	res		(	)	0.0000	0.0000		
Non-Voting Shares			(	)	0.0000	0.0000		
Closing Balance								

% of participation

Type of Securities/Derivatives	Quantity Same ty	pe of Shares Total
Common Shares	0	0.00000.0000
Non-Voting Shares	0	0.00000.0000

# CONSOLIDATE FORM Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2017 were done the following operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.								
Group and Family Dependants	( )Board of Directors	(X) Board of Executive Officers		() Audit Committee		() Technical and Advisory Agencies		
		Openning B	alance					
						% of participa	tion	
Type of S	Securities/Derivati	ives		Quan	tity	Same type of Shares	Total	
	ommon Shares n-Voting Shares			3,	72,516 160,156	0.0023 0.1034		
	3	Month Move	ement	,	,			
Type of Securities/Derivatives	Broker	Operation	n Day	Quantity	Price	Value in R	\$	
Non-Voting Shares		Sell	21-Nov	3,711	33.81	R\$ 125,468.9 <sup>.</sup> R\$	1	
Non-Voting Shares		Sell	21-Nov	7,500	34.30	257,250.00 R\$	)	
Non-Voting Shares		Sell	21-Nov	2,500	34.31	85,775.00 R\$		
Non-Voting Shares		Sell	21-Nov	3,711	33.84	125,580.24 R\$	1	
Non-Voting Shares		Sell	21-Nov	1,811	34.16	61,863.76 R\$		
Non-Voting Shares		Sell	21-Nov	1,900	34.17	64,923.00 R\$		
Non-Voting Shares		Sell	21-Nov	585	34.00	19,890.00 R\$		
Non-Voting Shares		Sell	21-Nov	1,671	34.00	56,814.00 R\$		
Non-Voting Shares		Sell	21-Nov	1,604	34.00	54,536.00 R\$		
Non-Voting Shares		Sell	21-Nov	550	34.00	18,700.00 R\$		
Non-Voting Shares Non-Voting Shares		Sell Sell	21-Nov 21-Nov		34.00	1,258.00		

				800	34.03	R\$ 27,224.00
				000	J <del>4</del> .00	R\$
Non-Voting Shares		Sell	1-Nov	85	34.01	2,890.85 R\$
Non-Voting Shares		Sell	1-Nov	500	34.03	17,015.00
Non-Voting Shares		Sell	3-Nov	90	33.63	R\$ 3,026.70
		0 "				R\$
Non-Voting Shares		Sell	3-Nov	500	33.60	16,800.00 R\$
Non-Voting Shares		Sell	21-Nov	1,078	34.10	36,759.80
Non-Voting Shares		Sell	21-Nov	745	34.00	R\$ 25,330.00
•						R\$
Non-Voting Shares		Sell	21-Nov	21	34.00	714.00 R\$
Non-Voting Shares		Sell	21-Nov	600	34.03	20,418.00
Non-Voting Shares		Sell	21-Nov	621	34.00	R\$ 21,114.00
3 - 1 - 1 - 1 - 1 - 1 - 1 - 1 - 1 - 1 -			_			R\$
Non-Voting Shares		Sell	21-Nov	930	34.36	31,954.80 R\$
Non-Voting Shares		Sell	21-Nov	838	34.00	28,492.00
Nam Vating Observe		0-11	04 Na.	00	04.54	R\$
Non-Voting Shares		Sell	21-Nov	23	34.51	793.73 R\$
Non-Voting Shares		Sell	21-Nov	1,000	34.54	34,540.00
Non-Voting Shares		Sell	8-Nov	600	33.03	R\$ 19,818.00
rton voung ondroo		Com	0 1101	000	00.00	R\$
Non-Voting Shares		Total		34,011		1,158,949.79
Non-Voting Shares	Bradesco S.A.	Rent	8-Nov	600	33.03	R\$ 19,818.00
Tion voing chares	C.T.V.M.	110111	01101	000	00.00	R\$
Non-Voting Shares	_	Total		600		19,818.00
	•	Closing B	salance			% of participation
Type of	Securities/Derivative	20		Quant	itv	
rype or	55		Quant	ııy	Same type of Shares Total	
Common Shares					72,516	0.00230.0011
Non-Voting Shares				3,1	26,745	0.10230.0511

### **CONSOLIDATE FORM**

## Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Group and Family Dependants

( )Board

( ) Board

( ) Technical

of

Of

Executive Committee Agencies

Officers

Openning Balance

% of participation

Type of Securities/Derivatives Quantity Same

type of Total

Shares

Common Shares 2,541 0.0000 0.0000 Non-Voting Shares 123,217 0.0040 0.0020

Closing Balance

% of

Type of Securities/Derivatives Quantity participation

Same

type of Total

Shares

Common Shares 2,541 0.00000.0000 Non-Voting Shares 123,217 0.00400.0020

### **CONSOLIDATE FORM**

## Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Group and Family Dependants

( )Board

( ) Board

( ) Audit and Advisory

Officers

( ) Board

Of ( ) Audit and Advisory

Officers

**Openning Balance** 

% of participation

Type of Securities/Derivatives Quantity Same

type of Total

Shares

 Common Shares
 0 0.0000 0.0000

 Non-Voting Shares
 0 0.0000 0.0000

Closing Balance

% of

Type of Securities/Derivatives Quantity Same

type of Total

Shares

 Common Shares
 0 0.0000 0.0000

 Non-Voting Shares
 0 0.0000 0.0000

### **CONSOLIDATE FORM**

### Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2017 there were not operations with securities and derivatives in accordance

Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Banco

CPF/CNPJ:

Name:

Bradesco S.A. 60.746.948/0001-12

Qualification: Treasury

**Openning Balance** 

% of participation

Type of Securities/Derivatives

Quantity

Same type of Shares Total

Common Shares

5,032,549

0.16470.0823

Non-Voting Shares

18,855,746

0.61730.3086

**Closing Balance** 

% of participation

Type of Securities/Derivatives

Quantity

Same type of Shares Total

**Common Shares** 

5,032,549

0.16470.0823

Non-Voting Shares

18,855,746

0.61730.3086